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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Trend plot forP3-12_0
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P3-12_0, Day=17 (2025-04-19)

FRV (ml plant-1)
o
~
1

V1, VG°BRv, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
260

140

I 97

00 ooI

L 400
L 300 4
- 200

117 z
- 100 *-

TargetEC=2300. 0, | TargetSetEC=2000. 0

0.2~

TargetPH=6. 5, TargetSetPH=6.0

o
o -
o O
1

(=2}
o
1

I
o
1

I

ET (ml/hr/plant)

N
o
1

ByWoFv @D17 93:08: ET=117 Fg=100.0 Ro=10.0

4200
L 150

- 100

cumET (ml/plant)

- 50

—_
o

10

11

17

18

19

20

21

22

23

0.8 -

B | B [ BH [ BA [ BA [ BA | BA | BA | K5 | B

E3
B

E3
B

E3
B

E3
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

800 4
600 -
400 -

200 -

\ A A Warking:,‘:ol [Al_

, 'PPFD_obs’] is missing

20 A

15

10

o obs'] is missing

. lcol ['T_obs/

80 A

60

Warning: lcol ['RH obs’, 'RHo obs’] is missing

RH @

.0 0.2 0.4

0.6

0.8

1.0






P3-12

BTE | EEATK (F)) | ERE (ERH/N) | RS TR
09:25 120 50.0 FH| 1{Ri&@09:25 Fzh (RF{EEEE)
21| 1200 (1%) 50. 0 3233 EC: 2000.0, PH: 5.8

MERRHERE STAERSF (78.0 :
ZRIASERRIERE46.0 ml.

large discrepency for begining water status (27:87.0), set to 39.0 ml.

46.0), FIREERT—RE XA 45




P3-12_0, Day=16 (2025-04-18)

VI, V2BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 390 | 400
40 -
260 - 300 1,
210 30 =
- 200 =
20 128 140 >
86 9L 100 -
I I Warning: lcol [FVI',| "FVO’'] missing I
100 7 = 01
_ ( mm v — ME
T 754 FRV maxi [ 30
=
©
E |
E
=>
[
L
0.6 -
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0, | TargetSetEC=2000. 0 t
0.6 -
0.4
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.8 N
0.6 -
0.4
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
— Bylnit @D17 {)3:08: ET=124 [Fg=100. 0 Ro=6.0 4300,\
€ 100 I 2
o 1 =
N ! - 200 2
< ! e e o =
= 501 | ,_
~ e e o - 100 W
- 1 S
[in] 1 o
b o - o &
0 S PN PN PN 0
0 1 2 3 5 6 7 8 9 [ 10 11 |12 13 ] 14 15 ] 16 | 17 ] 18 [ 19 ] 20 | 21 | 22 | 23
2o B LW B[ W | & | A& | A& | B | A | B3 | B3 | B3 | B3 | B3 | ©A | ®A | B8 | B3 | B3 | B3 | BA | BA [ 3005
C n [=
% ByEt @D16 18:38: ET=133 Fg=230.0 Ro=nan & © i:_
~ - 200 <
£ C
—_— 50 .
E @ © | 100 T
— E
(NN} [&]
b o - e e e o
0 V= Ap V=N A V= VR S — 0
0 1 2 3 5 6 7 8 9 [ 10 11 12 [ 13 ] 14 15 ] 16 | 17 ]| 18 [ 19 ] 20 | 21 | 22 | 23
2o B LW B[ B | B 2= (22| M |35 |52 52| W | 0 | 0 | 08 [ 0 | B3 [ B3 | B3| BA| B [300;
< 7] 1 c
2 ByWoFv @D17 03:08: ET=91 Fg=50.0 Ro=0 -
G : - 200 2
£ i E
= 501 1
£ l L 100 iz
- 1 S
[in] 1 o
b o -e o @
1.0 P P Al PN 0
0 1 2 3
ogl M | & | B5 | RE
0.6 -
0.4
0.2 -
0.0
—_— 4
1000 - ® | obs
—@— PPFD obs
4
Ve ® VP




29.

29.

28.

28.

27.

27.

29.

29.

29.

29,

28.

28.

28.

27.

27.

26.

660 760
m=750,n FV0=0

T
800

—o— M_E

750

755
m=600,n FV0=0

T
760

—— MW

600

605

610

m=510, FV0=0

28. 00 A

27.75 A

27.50 A

27.25 A

27.00 A

26. 75 -

29.

29.

29.

29.

29.

27.

27.

26.

26.

—o—

M_E

T
510

5%5
m=810,n FV0=0

T
520

—o— ME

810

815
m=660,n FV0=0

T
820

—— MW

:

660

665

670

m=600, FV0=0
28. 8 - M_E
28. 6
28. 4 -
28. 2
T T T
600 605 610

T T T
600 700 800

T
500

m=750,m FV0=0
27.50 4 o= M
27.25 -
27.00 -
26.75 -
26. 50 -
26. 25 -
750 755 760

29.

29.

29.

28.

28.

m=660, FV0=0

10

05 -

00 -

95 -

90

——

M_E

T
660

665
m=510,m FV0=0

T
670

26. 4 -

26. 2

26.0

25. 8 A

25.6 -

25. 4 -

27.

27.

217.

27.

26.

26.

26.

—— MW

T
510

5%5
m=810,m FV0=0

T
520

75 A

50 -

25 A

00 -

75 -

50

25 -

—9—

M_W

810

815

820




hour

9:30
11:55

100

80

60

40

20



P3-12

ATiE) | EBIATK (7)) | EME (EH/HK) | XKR R

09:30 120 50.0 FA| 1Ri&@09:30 F3) (KRAHEREE)
11:55 120 50. 0 PR 1Bi&e11:55 Fzh (RAEEEE)
23t 240.0 (2%) 100.0 FEWFHKEC: 1840.0, PH: 5.6

MERRHERE STAERSF (78.0 :
ZRIASEBRIERES0. 0 ml.
HEEHECE (2335.0 vs 3590.0) B

50.0), FIEEAAT—i@%E X5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=15 (2025-04-17)

VI, V2BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 390 L 400
40 - —
250 50 [390 5
210 =
20 1 - 200 =
120 =
104 ss | 1108, F
I Warning: lcol [FVI',| "FVO’'] missing I I
100 7 = 01
( o vi 4
75 FRV
11 [ ENCEURSESEIN NSRS KSR S e — 1 l
PLT I ——
1.0
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0,  TargetSetEC=1840.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
900 - T
Bylnit @17 §3:09: ET=112 Fg=100.0 Ro=21.0 - 300
75 | =
1 K
! 200 <
50_ 1 \_E/
: o
25 - i - 100 &
) o—o—e °
10@_ 5 PN 7 PN 5 Al 0
%=| B | BB - 300 —
75 A <
ByEt @15 18:40: ET=138 Fg=240.0 Ro=nan i;_
- 200 >
50 E
95 - 100 '“_g
— o—o—o °
100 0 T 1 T 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
%=| BH | M [H FH BH | BH [H FH BH | BH [H FH BH 5 5 5 5 R EZAEZAEFIEFIEF )
75 1 c
ByWoFv @D17 ¢|)3:09: ET=106 |[Fg=100. 0 Ro=20.0 L;_
50_ 1 \_E/
1 ——@ \ 4 . 2 o —
95 : & —e o o o o e —o | 1004¢
| 3
p—— =] St @ \ =] — .
1.0 a & al a P G — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0sl1Zz=| B | M [H FH BH | BH [H FH BH | BH [H FH BH 5 5 5 5 RERERERERERS
0.6 -
0.4 1
0.2 A
|
| _obs
PPFD_obs
n
80
60
RH
[ ] RH_obs
404 @ RHo_obs
N a
P y ® v
LN ‘of T mafe




29.

29.

28.

28.

27.

27.

M_E

T
600

760 860
m=810,n FV0=0

T
900

29. 6

29.

29.

29.

29.

—o—

M_E

T
810

8%5 SéO
m=660,n FV0=0

26. 75 A

26. 50 ~

26. 25 A

26. 00 ~

25.75

25.50

—0—

M_W

660

665 670

28.

21.

27.

21.

27.

29.

29.

29.

29.

29.

29.

29.

26.

26.

26.

26.

25.

25.

m=600, FV0=0

—o—

M_E

600

665 6%0
m=870,n FV0=0

—o— M_E

870

8%5 SéO
m=750,n FV0=0

—o— MW

750

755 760

m=660, FVO0=0

29.0 -

28. 8 -

28. 6

28. 4 -

- ME

660

T
665 670

27.00 A

26. 75 A
26. 50
26. 25 A
26. 00
25.75 A

25. 50 A

—— MW

T
600

760 860
m=810,n FV0=0

T
900

26.

26.

26.

26.

26.

25.

25.

—— MW

4

810

815 820

29.

29.

29.

29.

29.

28.

28.

26.

26.

25.

25.

25.

25.

25.

27.

26.

26.

26.

26.

26.

25.

m=750, FV0=0

- ME

T
750

7%5 7é0
m=600,n FV0=0

1T —e— mw

T
600

665 6%0
m=870,n FV0=0

—— MW

870

875 880







P3-12

BTE | EEATK (F)) | ERE (ERH/N) | RS TR
09:30 120 50.0 |Z=| 1Bi8@09:30 Fxzh (KAEREE)
2it| 120.0 (1)k) 50.0 3233 KEC: 1840.0, PH: 5.7

MERRYERE 5STREAERS (78.0 : 50.0), AIAEHTF—@Z XAHE
BN L PR EBES0. 0 ml.

large discrepency for begining water status (27:81.0), set to 38.0 ml.
FEREBIEC (2505.0) 5i&FEEC (2000.0) REK K, HEE

¥ [E];&%ECE (2505. 0 vs 4108.0) 135



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=14 (2025-04-16)

VI, V8BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 600
40 - —
380 390 | 400
20 | F240 250 50 =
L 200 &
106 120 £ Rgs5
I Warning: lcol [FVI',| "FVO’'] missing I I
100 7 = 01
( o vi — ME
75 4 FRV maxM | 30
- 29
L e =T 1T T N I A o "™ EA Mty =
| A | B
25 n | | | - 27
L I I BN R .
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0,  TargetSetEC=1840.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.7 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
1994 Byinit @17 63:09: ET=105 Fg=100.0 Ro=27.0 300
75 - : S
1 o
50 1 E
: —
25 1 —100'-'§J
1 o
p o & ol @
0 P P Al P 0
o0d 0 [ 1 [ 2334
PR 1 BA [P | BA | R - 300
C
e e © TZ
- 200 >
E
&—o—=o |l
3
1081‘ 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
PR 1 BA [ FH | BA | BB [P | PR | 2 [BEIER[(ZE|ZE|Z| W |ZR| (2R ER|(ZE|(BE|ER(ZR|(FE|E5E 3004
1 c
757" ByWoFv @D17 03:09: ET=85 Fg=50.0 Ro=0 =
50 : E
'—
© @ @ @ @ ©
1.0 P : ﬁ : : - E— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl A | B [HH | B | MM |BI|ZE |[ZEIZE[(ZC|ZT|Z25| W || 25 (B0 |8|25|ZR |50 |(25|(55|%5T
0.6 -
0.4 1
0.2 A

—_—
[ ] | _obs
—@— PPFD obs

60

RH

RH_obs

RHo _obs

o VPD




30.0

29.5

29.0 -

28.5

28.0 -

27.5 A

27.0

M_E

T
600

700
m=750,n FV0=0

T
800

T
900

30. 2

30. 1

30.0

29.9 -

29. 8

——

M_E

765
m=600,n FV0=0

T
760

27.25

27.00 A

26.75

26. 50

26. 25 A

26. 00

——

M_Ww

605

610

m=510, FV0=0

28. 50 A

28. 25 A

28. 00

27.75 A

27.50 A

27.25 A

——

M_E

T
510

5%5
m=870,n FV0=0

T
520

29. 8 A

29.6 -

29. 4 -

29. 2 -

29.0 A

——

M_E

870

875
m=690,n FV0=0

T
880

27.25 A

27.00 A

26.75

26. 50 A

26. 25 A

26. 00

——

M_W

690

695

700

29.

29.

29.

28.

27.

26.

26.

25.

217.

217.

27.

26.

26.

26.

26.

m=600, FV0=0

600 605 610

MW

760 860
m=750,n FV0=0

T
600

T
900

——

M_W

750 755 760

30.

29.

29.

29.

29.

29.

29.

26.

26.

26.

26.

26.

25.

25.

26.

26.

26.

26.

26.

25.

m=690, FV0=0

——

M_E

690

695
m=510,n FV0=0

T
700

——

M_W

510

5%5
m=870,n FV0=0

T
520

——

M_W

870

875

880







P3-12

BfiE) | FEBEETHC (FY) | EB=E (EH/FK) | XK iR
09:30 180 50. 0 BBl 1Ri%@09:30 Fzh (RAMEHSE)
24t| 180.0 (1)k) 50.0 32353 KEC: 1851.0, PH: 6.0

FERRAERE STEERT (117.0 : 68.0), AIREHF—@% XA 4
FORGEBRRTC (180) S5T8A (132. 0) AN, FIREH T % RREIERSHXER
ZRIASEBREEiRL68. 0 ml.

REXEEBIEC (2422.0) 5% FEEC (2000.0) REKR K, BFHE



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=13 (2025-04-15)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

585
40 1
380 R0 400
20 - 40
156 L 200
77 . L. 97
508 II Warning: lcol [FVI',| "FVO’'] missing I
B - 02

150
( o v — ME

- 600

V (ml d-1)

F

=

100 -

50 -

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1851.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0

]
Bylnit @17 §3:09: ET=93 Fg=50.0 Ro=4.0
|
- 400

100 A

~
(S}
1

- 200

()]
o
cumET (ml/plant)

N
(S]]
1

. & @ 4 @ & L
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE H§ H%E Hﬁ H'HEIE HEE H%E Hi HHE HEE E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES

o

100

ByEt @D13 18:38: ET=130 Fg=380.0 Ro=nan & o o +o o o o O - 400

~
(S}
1

a1
o
1

- 200

cumET (ml/plant)

N
(S]]
1

 —— — — B
0 ] 1| 2] 3] 4]5]6 9 [ 10 ] 11 [ 12 [ 183 [ 14 ] 15 [ 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23

7 8
100) B | B | B | M| % || % | % | = || & ||| ;| m]| e |E]| % |B| R |5s55] B | MW
1
ByWoFv @D17 03:09: ET=97 Fg=50.0 Ro=0.0 - 400
1

o

~
(S}
1

a1
o
1

- 200

cumET (ml/plant)

jr.
%é\x

1.0

0 [ 1 2 | 3 [ a5 6] 7 [ 89 JoJin[i12]@@[14]15[16[17[18]19[20]21]22723
ogl B | B | B5 [BF | B |8 |BE [F | ¥ |85 [BF [BF | |8 |[BF [ | KB |8 [B[F |2 %= | H
0.6 -

0.4 1
0.2 1

—_—
[ ] | _obs
—@— PPFD obs

\“' ﬂ 'I o VPD




m=510, FV0=0

29. 00 A

28. 75 A

28. 50 A

28. 25 A

28. 00 A

27.75 A

——

M_E

28.5
28.0
T T T T T
500 600 700 800 900
m=810,m FV0=0
30. 6 - M_E
30. 4
30. 2
30. 0
29. 8
T T T
810 815 820
m=630,m FV0=0
- MW
27.5
27.0
26. 5
630 635 640

30.

30.

30.

30.

30.

30.

30.

27.

27.

217.

26.

26.

26.

26.

T
510

T
515

T
520

m=870,m FV0=0

——

M_E

870

875
m=720,n FV0=0

T
880

50

25 -

00 A

75 A

50 -

25

00 -

——

M_W

720

725

730

30.

29.

29.

29.

28.

27.

27.

26.

26.

27.

27.

26.

26.

m=720, FV0=0

30. 6

30. 4 A

30. 2 A

30. 0 -

29.8 -

——

M_E

m=630, FV0=0
—-e— ME
0 -
8 -
6 -
4 -
T T
630 635 640
m
0
—— MW
5 -
0 .
5 -
0 -
T T T T T
500 600 700 800 900
m=810,m FV0=0

51 —— MW
0 -
5 -
0 .

810 815 820

720

T
725

T
730

m=510,m FV0=0

27.5 A

27.0 -

26.5 -

26.0

——

M_W

510

5%5
m=870,n FV0=0

T
520

27.50 A

27.25 A

27.00 A

26. 75 A

26. 50

26. 25 A

——

M_W

870

875

880




